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Homework 1\ Epidemiology .
Aya Arouri \ 1191397 .

1. What is the difference between incidence rate and risk?
Risk: It requires finding a group of non-carriers and then counting the number of people who contracted the disease after a period of time.
A condition that they do not have disease and it must contain a period of time. 
Incidence rate: It measures the speed at which disease states develop ,

 A group of people who do not suffer from the disease are taken and the follow-up is done, and we see the number of disease cases that I have after a period, and divide them by the total time for each person, how much he continued in the study until illness (when he was infected with the disease, he stopped counting his time), and the people who were not With disease, they continue to study.
2- In a mass screening of 5000 women, 25 of these were found to have breast cancer. During the next 5 years 10 more of the examined women developed breast cancer.  Calculate the  point prevalence of breast cancer in this population. What is the risk of developing breast cancer among these women?
Point prevalence rate = persons with the condition / total number of persons 

                                     =  25 /  5000 

                                     =   0.005
Risk =  Number of subjects developing disease during a time  period / Number of subjects followed for the time period 
(5000 – 25 = 4975 ) 

                             =  10 / 4 975 

                            =    0,002  * 100%      =   0,2 %
3. In a suburb of Stockholm there were 21 cases of injury due to moped accidents in one year, while in a city parish with the same average population size (80,000) only 9 such injuries occurred (see table).

	No. of injuries and person-years by age and area

	Age

(years)
	Number of injuries
	Number of person years

	
	 Suburb
	City
	suburb
	city

	15-19

20+

Total
	20

1

21
	7

2

9
	4000

76000

80000
	1000

79000

80000


A) Calculate the incidence rate for the suburb and the city parish, respectively, without taking the age distribution of the two populations into account.
 In suburb   :   IR = A/PT 

                             = 21 / (1 * 80000 ) 

                             = 0.00026 cases \ person  year.

 In city parish : IR=A/PT 

                             =  9/(1*80000) 

                             =  0.00011 cases / person year .

B) Calculate the specific incidence rate for each age group in the suburb and the city parish respectively.
In 15- 19 age :

Suburb IR = A/ PT  

                 = 20 / (1*4000) =  0.005 cases \ person  year.
     City parish IR = A / PT 

                            = 7/(1*1000) = 0.007 cases \ person  year.
   In  +20 age :

     Suburb IR = A/ PT  

                      = 1 / (1*76000) =  0.000013 cases \ person  year.

     City parish IR = A / PT 

                            = 2/(1*79000) = 0.000025 cases \ person  year.

